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(sample size) 10
109 7.1 88 84 7.6 97 90 49 50 76
79 1.907
(standard error)
1.907/+/10 = 0.603
(A) : (A)
7.9 1.907 10
B B
B=59 se(i) ,, =0.582
(B) , (B)
10 10
B B
B=59 se(u),, =0.611
H,:x4=6.0 vs H, :ux>6.0 5
(A)
6.0 1.907 10
B B
5 B=59 5 B
6.717 10
= 79 5
5
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(B)
10 7.9 10
10
6.0 B
B 5
B=59 5 B
6.9 10 =
7.9 5 5
Scilab
pb =
scilab-4.1.2 0.
Copyright (c) 1989-2007 0.
Consortium Scilab (INRIA, ENPC) 0.
0.
0.
Startup execution: 0.
loading initial environment 0.
[More (yorn) ?]
> X =
10.9 -->mupb
7.1 mupb =
8.8 7.9302346
8.4 -->sigpb
7.6 sigpb =
9.7 0.5817199
9.
4.9 -->munb
5. munb =
7.6 7.9220339
mu = -->signb
7.9 signb =
sig = 0.6110415
1.9072959
n =
10.
b =
59.
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clear

x={10.9;7.1;8.8;8.4;7.6;9.7;9.0;4.9;5.0;7.6}

mu=mean(Xx)

sig=stdev(x)

n=10

b=59

//parametric bootstrap

pb=zeros(b,1)

for i=1:b, y=zeros(n,1), y=mu+sig*rand(n,1,'normal'), pb(i,1)=mean(y), end
mupb=mean(pb)

sigpb=stdev(pb)

//nonparamatric bootstrap

nb=zeros(b,1)

for i=1:b, y=zeros(n,1), y=sample(n,x), nb(i,1)=mean(y), end
munb=mean(nb)

signb=stdev(nb)

histplot(10,pb);

clf

histplot(10,nb);
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B.
0.9
0.8
0.7
0.6
0.57]
0.4
0.3
0.2
0.1
0.0 T T T T T T T T T T T T T T T T T T T
6.0 6.5 7.0 7.5 8.0 8.5 9.0 9.5
. Scilab
-->decpb(1:10) clear
ans = x={10.9:7.1;8.8:8.4;7.6:9.7;9.0:4.9;5.0:7.6}
7.6947878 mu=mean(x)
6.7342402 sig=stdev(x)
6.7172983 format(10);mu
6.7027829 format(10);sig
6.6880651 n=10
6.6273286 b=59
6.6162382 MU0=6.0
6.4716517 ' :
6.4329194 //parametric bootstrap
6.4076237 pb=zeros(b,1)

-->decnb(1:10)

ans

DO O N
O~~~ 000000 0OV
ORI NO

for i=1:b, y=zeros(n,1), y=mu0+sig*rand(n,1,'normal’),
pb(i,1)=mean(y), end

mupb=mean(pb)

sigpb=stdev(pb)

decpb=sort(pb)

//nonparamatric bootstrap

nb=zeros(b,1)

for i=1:b, y=zeros(n,1), u=zeros(n,1), u=sample(n,x)-mu,

y=mu0+u, nb(i,1)=mean(y), end

munb=mean(nb)

signb=stdev(nb)

decnb=sort(nb)
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